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1. 3T AT 37T #hT H&AT 8175x45y2 &7 72 € [A9TT 8, AT y  AT&ehad 719 & o7, /4X + y &7
1:I'I_rfsa’:

(A)8 (B)4(C)6 (D)5

Ans. D

2. If the nine-digit number 43x1145y2 is divisible by 88, then the value of (3x-2y), for the smallest
value of y, is:

(A)22 (B)18 (C)20 (D)9

Ans. A

3, T[T $TTS-37ehT T HEAT 342x18y6 FT HEAT 72 | ferariora 33T SITe av y & &% a2 919 & oy
VOxX + y&T AT foheaT g

(A) 4V7 (B) 6(C) 8 (D) 2v7

Ans. B

4. 10-3TT T Teh H&AT 46789x53 1y Al 72 & EATST g AT X o Had a2 HIT 6 (1T (2x+5y) &l
1:I'I_ff%:

(A) 10 (B) 28 (C) 38 (D) 16

Ans. B

5. 10-3hi st IS H&aT 75y97405x2 T 72 | f91e7 8, 7 x °F stfersray 71+ & forw, (2x-y) &t
1:I'FT%’:

(A) 18 (B) 21 (C) 24 (D) 12

Ans. D

6. 10-37h1 st U §&AT 1220x558y2 If< 88 & fAwT=a g, AT (x + y) FT HIA &

(A)9 (B)15 (C) 7 (D) 11

Ans. A

7. ST TH SR %0l Ueh 9EAT 6220x558y2 HEAT 88 ¥ [HATST g, AT (5x+5y) T HIA &
(A) 45 (B) 55 (C) 20 (D) 25
Ans. C

8. 3T T el sl Uah H&AT 7220x558y2, 88 § faaATsT 8 AT (5x+5y) & HIH gIIT:
(A) 10 (B) 15 (C) 25 (D) 35
Ans. B
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9. I 10-3(=h1 T Fls HeAT 1230x558y2, 88 & fasrs7r g, AT (5x+5y) T 719 &
(A) 20 (B) 40 (C) 30 (D) 50
Ans. B

10. I3 8 i it s "&aT 30x558y2, 88 & fasr=ar 8, AT (6x+6y) T AA &
(A) 30 (B) 66 (C) 35 (D) 42
Ans. D

11. |TT a1 sl HCAT 54x29y6, (x >y) AR 72 | AT g, AT (2x+3y) FT HIH 7497 &2
(A) 13 (B) 38 (C) 23 (D) 32
Ans. C

12. |TT 31 0l HEAT 64x29y6 (x > y), T 72 & 9157 8, AT (2x-3y) FT AT FAT 872
(A) 3(B) 7 (C) 13 (D) 9
Ans. A

13. If the seven digit number 64x29y6 (x>y) is divisible by 72, what is the value of (2x-y)?
(A) 13 (B) 3 (C) 9 (D) 7
Ans.C

14. TH St T §EAT 2x600000y8, HEAT 24 § qUid: AATST | S0 X 0 TaTy # 08, AT (x+y) &
IAqH AT a36< &

(A)2 (B)5 (C)8(D)9

Ans. B

15. 10-37 =t §&4T 79x00001y6, 88 & TUIq: AT 8| (x + y) FT A7 74T &2
(A)5 (B)9(C)7 (D)6

Ans. B

16. TS 31 T HEAT 5x32465y, 88 & fAwT=T 2| (2x + 3y) T AT T gIT?
(A) 18 (B) 16 (C) 20 (D) 24

Ans. D

17. F(E TATLE T 1 s HEAT 5y5888406x6 HEAT 72 | AT ¢, AT x % =IHdH | & 010 (9x -
2y) T JH FAT T2

(A) 4(B)3(C)5(D)7

Ans. B



18. Mferiad & & FiF-HF d&ar 7, 11 3% 13 & ia: faasa 82
(A) 15004 (B) 14993 (C) 14982 (D) 15015
Ans. D

19. Feferiea & & &9 =t 9 11, 13 37 7 3 quia: A s 2
(A) 624613 (B) 624624 (C) 624635 (D) 624646
Ans. B

20. T& QUi n RATTATE, (6n + 3)2&1 9 & FArsriSra v 9% 9w fohaar g
(A)2(B)3(C)1 (D)O
Ans. D

21. T2 8-37ahi I HEAT 2074x4y2, 88 & fAATST g, AT (4x+3y) T AT &:
(A) 45 (B) 49 (C) 42 (D) 36
Ans. A

22. T 11-371 HEAT 5y5884805x6, x # y, A7 2HAWSAL, qI,/xy FT A &

(A) 7(B) 3 (C) 2V7 (D) 27
Ans. A

23. T AT 31 st §&AT 985x3678y, HEAT 72 | TAATST g, T (4x-3y) FT HIF SR
(A)5(B)4(C)3 (D)6
Ans.

24. T 7S ST T G&AT 789x53 1y, HEAT 72 ¥ fAwrsa g, a7 (5% - 3y) FT AT AT
(A) 0 (B)-1(C)1(D)2
Ans. B

25. If the 8-digit number 179x091y is divisible by 88, the value of (5x -8y) is:
(A)4 (B)9 (C)5(D)7
Ans. A

26. T2 T 9-37ah1 #hl H&AT 32x4115y2, 88 & fAwTsa g, AT y o ~IAqH GHS HIH o (1T (4 - y) FT
HTFT%:
(A)-1 (B) 20 (C) 11 (D) 31



Ans. A

27. 71 10-37h1T U §&aT 1330x558y2, 88 ¥ fas=a 8, @l (x + y) FIATH &
(A)9 (B)8 (C)6 (D)7

Ans. A

28. T 10-3h1F U §&AT 897359y7x2, 72 | fasrs7 8, a7 y & &9 s1fersmaw 717 & o, (3x - y)
FHAE:

(A) 8(B)3(C)7 (D)5

Ans. C

29. TT< 10-37h1T T AT 67127y76x2, 88 & AwTs7 8, @7 (7x - 2y) FT A &
(A)3(B)5 (C)10 (D)7
Ans. D

40, T(< B2 i ol 9T 15x1y2, §CaT 44 | AT € A7 (x +y) TG B
(A)6(B) 8 (C) 7 (D)9
Ans. C

41. T T-3h1 T H=AT 6x2904, HEAT 88 & fA9TsT & T x T T T
(A)8(B)7 (C)5 (D)6
Ans. D

42. X FT ~IAqH HIE F4T 1T (o8 517x 324, 96T 12 § [T gl STu?
(A)0(B)1 (C)2(D)3
Ans. C

43. (S g ST ! 96T 4x573y, G961 72§ A7 8, a7 (x + y) FTAEE:
(A)4 (B)8 (C)9 (D)6
Ans. B

44, x % Tohe AT o ToIT 7 3Rt aTeit 9eAT 46393x8, §EaT 11 § fAra1s7 87
(A)7 (B)2(C) 5(D)3
Ans. D

45. x = e 77+ = forT |7 e 9ear 91876x2, HeaT 72 | fawsa 82
(A)2(B)3 (C)5 (D)7



Ans. B

46. x % T AT o TorT |1 sishir 9T, 5656x52, 9T 72 | faarsa 82
(A) 4(B)5(C)7(D)8
Ans. C

47. x % Tohe AT o (oIT 97q i1 T §&4T, 55350x2, H6q1 72 & fars7 8?2
(A)7 (B)1 (C)3 (D)8
Ans. A

48. x % e 7T o oI |7 et 591 8439x53, §€AT 99 | fAwsT 87
(A)6(B)3(C)4 (D)9
Ans. C

49, STE T qUTTeh n [ 7 | Tariora gt Srar g, a7 9 3 a=at g| TS 6n &1 7 | ferrisra =har
STTAT & AT &7 AT T2

(A)1(B)4 (C)0(D)?2

Ans. B

50. feferfea & & & & 9T 11, 13 3% 7 8 uia: fa9sT 872
(A) 259270 (B) 259248 (C) 259259 (D) 259237
Ans. C

51. TH 3T Al AT 2x600000y8, HEAT 24 | TUIA: [AWTST §| X X+ 0 TATy # 08, AT (x+y) &
IATH HIT FL6L 5

(A)2(B)5(C)8(D)9

Ans. B

52. 1088 ATEA e HEATSAT T 3T A | STH & STERAH TR [ ARTLHT ol Hohcll &?
(A) 544 (B) 1087 (C) 100 (D) 88
Ans. B

243
16807

53, ToeT ST o FF, TAT I &7 o [ T AT
7 2 3 5

(A) 5 (B) - (C) - (D)

Ans. C

54. 10-3(=h[ #l §&AT 79x00001y6, 88 T IUIa: fATST 8| (X + y) FT AT FATE?

3 s 82




(A) 5(B)9 (C)7 (D)6
Ans. B

55. 3T 3{ehl =l HEAT 532465y, 88 & fATST g| (2x + 3y) T AT 4T VT2
(A) 18 (B) 16 (C) 20 (D) 24
Ans. D

56. X % {ohe AT % oI AT iRt Aot 5&4T 6913 x 08, HEaT 88 ¥ AT 27
(A)6(B)8(C)4 (D)2
Ans. B

58. If the nine-digit number 43x1145y? is divisible by 88, then the value of (3x-2y), for the smallest
value of y, is:

(A)22(B) 18 (C) 20 (D) 9

Ans. A



